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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

10.

This question paper contains 50 MCQ type objective questions. Each question has four answer options given,
viz. A, B, C and (D)

Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any combinations
of more than one answer will fetch — % mark. No answer will fetch 0 mark.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C, or (D)
Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective bubbles.
Mark the answers only in the space provide(D) Do not make any stray mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of the OMR. Also
fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your full signature in appropriate
boxes in the OMR,

The OMRs will be processed by electronic means. Hence it is liable to become invalid if there is any mistake
in the questions booklet number or roll number entered or if there is any mistake in filling corresponding
bubbles. Also it may become invalid if there is any discrepancy in the name of the candidate, name of the
examination centre, signature of the candidate vis-a-vis what is given in the candidate’s admit car(D) The
OMR may also become invalid due to folding or putting stray marks on it or any damage to it. the
consequence of such invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

Rough work must be done on the question paper itself. Additional blank pages are given in the question
paper for rough work.

Handover the OMR to the invigilator before leaving the Examination Hall.
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Geography

1. Which among the following definitions fits with
Geography?
(A) Geography is the study of earth
movement and human behaviour.
(B) Geography is the study of spatial
variation.

(C) Geography is the study of resource, man
and environment. '

(D) Geography is the study of the
interaction between science and
humanities.

2. The position of a settlement in relation to its
physical settings is referred as

{A) Location
{B) Situation
(C) Site

(D) Address

3. According to the Census of India, the rural settle-
ment is economically based on

{A) primary activities
(B} secondary activities
(C) tertiary activities

(D) quaternary activities

4. The triangular shaped age-sex pyramid with a
wide base and narrow apex, typical of less developed
countries, suggests

{A) declining population

(B) slowing population growth
{C) zero population growth
(D) expanding population
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G |
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@

(A) =S
(B) 7
(C) 7=

(D) fo=re
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5. TheAgeing population, a process by which the share
of the older population becomes proportionally larger due
to increased life expectancy and reduction in birth rates is
mastly found in the

(A) developing countries of Asia.

(B} developing countries of Sub-Saharan
African Countries,

(C) most developed countries like Japan.
(D) developing countrics of Latin America.

6. The idea of freight corridor is associated with
{A) Roadways
{B) Railways
(C) Airways
(D) Waterways

7. Which one of the followings is the
head-quarters of both Eastern and South-Eastern
railway?

{A) Cuttack
{B) Patna

{C) Kolkata
(D) EKharagpur

8. Which of the following is an incorrect match?
{A) Hugrijan - Petroleum
{B) Kemangundi - Iron
{C) Riasi - Coal
(D) Megjia - Manganese

9. Which one of the countries is located south of
the Equator?

(A} Rwanda
(B} Sudan
(C) Nigeria
(D) Camerpon

PUBDETI7/GEOGRAPHY

5. TR e ek udie @ e SR
T SR IR ZITE T A9 TR Wi 9
06, ©f oS Al

(A) af¥EE TageiE cesiEce
(B) SifE=RBemmm e amaas celafkics
(C) == =Y fs Tae ortafre

(D) #ifen wifaws Samre mmafEns

6. Freightcorridor< 413111 (@ =if=a s Ane
w=ifs @b 77
(A) ASTHY
(B) ==y
(C) fTm=ig
(D) T

7. FefEe ofE T @m 2w dEe g whE-
- 4% Ton @ e el waAEe
(A) 0F
(B) #iow
(C) F=rarel
(D) =geieE

8. FraffeoRn g cm 397 e fe @2
(A) =SEEH - JFEten
(B) @umele - az wfEs
(C) == - ===
(D) cafemt - Mg

9, FsFiieefn wa W o= Fersmas 7R
iy
(A) FeTrl
(B) =
(C) =iEraiaa
(D) e



10. A number of regions demarcated in the world
map is given below (A - F) and six characteristics are
listed randomly. Match the correct alphabet
denoting a region to its stated characteristic as given in
the following options.

Characteristics:

1. Most number of people likely to be affected by
sea level rise.

2. Area of nomadic herdsmen amid grasslands.

3. High rates of biodiversity loss and deforestation
seen here.

4, Annual bushfires affect human life here.

5. Zone of continuous volcanic activity and
political strife.

6. Area of thinning ice sheets & glacier calving.

10, FrEeawe 42 AR seselF gwa A (AE F
*1( = wra i =g = =3l =g (1 - 6) SRiffe
e | TR Ay S W R B e

g 2

1. FE GEretE BUIE SIEr O SeEd (@aaels]
wiEa =iosz 2 TeAl Sz
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4. % T 2fTma RN TE INE woaz 7|
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(A) A-l, E-3,B-4,F-2,D-6,C-5
(B) E-2, C-1, D-4, A-5, B-6, F-3
(C) F-2, C-1,A-6,E-3,B-5, D-4

(D) F-4, C-l, A-6, E-3, B-5,D-2

(A) A-l, E-3, B-4,F-2, D-6, C-5

(B) E-2,C-1, D-4, A-5, B-6, F-3

(C) F-2, C-LA-6,E-3,B-5, D-4

(D) F-4,C-l, A-6,E-3, B-5, D-2
PUBDETI7/GEOGRAPHY




11. State the maximum number of latitudes which
may be theoretically drawn on the Earth's surface?

(A) 90
(B} 180
(Cy 360
{D) Infinite

12, We always see the same face of the Moon, be-
cause,

(A) it takes equal times for revolution around
the earth and rotation on its own axis.

(B) it rotates at the same speed as the earth
around the sun.

(C) it is smaller than the Barth.

(D) it revolves on its axis in the direction
opposite to that of the Earth,

13. The height of the mid-day sun at the equator is
never less than

{A) 90°
(B) 30°
(C) 664"
(D) 231%°

14. Which one of the following is not a
topographic evidence of rejuvenation in landscape?

{A) Incised meander
{B) Paired valley terrace
{C) Knick point

(D) Flat valley floor

15. Basket of eggs is a term used to describe a group
af

{A} Barchans

(B} Drumlins

{C) Eskers

(D) Roche Moutonné
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16. The effect of the increase in the atmospheric con-
centration of CO, has so far been most significantly
manifested in

(A) increase in global average sea surface tem-
perature.

(B) a decrease in the productivity of
phytoplankton.

(C) increase in the acidity of the ocean water.

(DY) increase in the global sea level

17. The boundary zone developed at or near the mass
of warm air where an advancing cold air strikes and
forces the warm air upward is called

{A) Warm front

(B) Cold front

(C) Occluded front
(D) Air mass boundary

18. Which one of the following statements is true
about salinity of ocean water?

{A) In high latitudes it decreases with the
increase of depth.

(B} In high latitudes it increases with the
increase of depth.

{C) In middle latitudes for first 360 m from the
surface it decreases and then increases.

(D) In the equatorial regions it decreases
slightly with depth.

19. El Nino appears in the coast of Peru in the month
of
{A) August
(B) September
(C) November
(D) December
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20. Which Jet siream separates the Polar Cell {rom
the Ferrell Cell

{A) Polar jet stream

(B} Sub-tropical jet stream
(C) Tropical jet stream
(D) Equatorial jet stream

21. Choose which of the following hypothesis/hy-
potheses have been proposed by ecologists to explain
increased species diversity in the tropics?

I. Tropical species are more subject to
controls by predators, parasites and patho-
BENS,

II. The niches of tropical species overlap more
than those of higher latitude
species and so tropical species compete
more intensely.

IT. Tropical species are affected more by in-
terspecific  interactions than by
intraspecific interactions.

(A) T

(B) I

(C) L 1T and I

{D) TandII

22, Series of protected areas linked through a
global network, intended to demonstrate the
relationship between conservation and development, is
called

(A) Biosphere reserve
(B) Mational park

(C) Bird sanctuaries
(D) Wildlife sanctuaries
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23, Laterization process is characterized by
accumulation of

{A) Calcium sulphate

(B) Iron sulphates

(C) Iron and aluminiom oxides
(D} Organic matter

24. When a map of R.E 1/20,000 is reduced at the
ratio 3:1 and combined with a map of R.F.
1/80,000 enlarged at ratic 3:4, the R.F. of the
combined map will be:

(A) 1/40,000
(B} 1/160,000
(C) 1/30,000
(D) 1/60,000

25. Seleet the correct sequence of the Survey of In-
dia (5.0.1.) Topographical map sheet numbers which
could lie to the North, East, South and West, respec-
tively, of the sheet bearing the map number 48 1/2.

(A) 48 1/1,48 E/14, 48 1/16, 48 I/3
(B) 48 1/6, 48 /1, 48 E/14, 48 I/3
(C) 48 I/1, 481/6,481/3, 48 E/14
(D) 48 Ef14, 48 /3, 48 I/1, 48 I/6

26. Which of the following landforms is indicated
on topographical sheets by V-shaped contour lines, point-
ing downhill?

(A) Valley
(B) Ridge
(C) Hill
(D) Pit

23. =bARrEH Al e
(A) FEHIN AFEHE AGTH
(B) CAilCE® Hes
(C) G ¢ SHERIfFaN S5RE 3 A%
(D) TER #wies HenA

24. g6 WMHEE RF = 1/20,000, 9bate 3:1
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(A) 1/40,000 -
(B) 1/160,000
(C) 1/30,000
(D) 1/60,000

25, SIS AT AL (Survey of India) F48 12 755
AN A AR Tmblas IdiEm T, 99,
i @ 2T SIaigS Zi (Gl giE e 75
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(A) 48 171, 48 E/14, 48 1/16, 48 /3
(B) 48 1/6, 48 I/1, 48 E/14, 48 I/3
(C) 48 I/1, 481/6,481/3, 48 E/14
(D) 48 E/14, 48 1/3, 48 I/1, 48 /6
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‘Basic Scientific Aptitude’

27. If a particular light has a frequency of
I million/second, What is its wavelength?
(A) 3 x10°m
(B) 3 x 10°m
(C) 3x 10'm
(D) 3x10m

28. Arrange the following segments of the
Electromagnetic Spectrum in ascending order from high
to low wavelengths:

(A) Visible rays, Ultraviolet rays, Gamma rays,
Radio waves

(B) Gamma rays, Ultraviolet rays, Visible rays,
Radio waves

(C) Gamma rays, Visible rays, Ultraviolet rays,
Radio waves

(D) Ultraviolet rays, Visible rays, Gamma rays,
Radio waves

29. The statistical measures used to calculate the
variation present among the observations relative to their
average is called

(A) Coefficient of kurtosis
(B} Quartile deviation
(C) Absolute measures of dispersion

(D) Relative measures of dispersion

30. Which of the following features makes a Fifth
Generation computer different from the earlier
versions?

(A} Microprocessor

(B} Artificial intelligence
(C) Graphic user interface
(D) Operating system
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31. In figure, PB and QA are perpendiculars to AB.
PO =3c¢cm; OQ =35 cm and area of the
APOB =72 cm?, then area of the AAQQ is

{A) 120 em? .
(B) 150 cm® /j
{D) 200 cm? V *

{C) 43.20 cm?

32, In the given figure, D is the mid-point of BC.
tan & A
Find the value of —
tang
(A) ¥
(B) V312
(C) ¥

(D) Undefined

B [1] C

33, Find the value of x where,

0.125%4™ = ['L,_ﬂ
(A) 3873 2
(B) 56/27

(C) 35

(D) 18/7

3. Ify + 22 =ayg 22 + 2% = bzy and x* + y*=cxy,
then the value of a* + B* + & — abce
(A) 14
{B) 0
(Cy 10
(D) 4
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31, = o (fora wa) 23ardt 254 07¢) PB 6 QA, AB
T 777 | I PO = 3 cm; OQ = 5 cm 992 APOB 9%
T 72 cm® &2, O AAOQ 9T (FaTE TS5 1

(A) 120 cm?
(B) 150 cm?
(C) 43.20 em?
(D) 200 cm?

32. zwe forg (oo wm 2eardt 2 (v4) D& BC e

wfeq

g
% a7 A T = 8
(A) %

(B) V312

(C) v

(D) sy

=X

0.25
33. 0.125x4™"= [3] oE, v F TE e = e

(A) 383
(B) 5627
(C) 35

(D) 18/7

34, Gy 4+ 2=ayz 24 0= bre TR+ = oxy T,
T a® + b+ o —abe G999 T
(A) 14
(B) 0
{Cy 10
(D) 4
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35. The ratios of the monthly income and monthly
expenditure of ‘X' and ‘Y’ are 3:4 and 4:5,
respectively. Which of the following represents a pos-
sible value of the ratio of their savings?

(A) 5:4
(B) &:5
(C) 23:20
(D) 13:10

36. Percentage composition of an organic
compound (molecular weight = %0amu) is
C = 26.59%, H = 2.22% and O = 71.9%. Molecular
formula of the compound is

{'A'] CISH]Z -]
(B) C,H,0,
(C) CHO,

(D) CHO

37. Total number of electrons in CO,* jon is
(A) 2
(B) 4
(C) 16
(Dy 32

38, A planet has twice the density of the Earth and
the acceleration due to gravity at its surface is half of

the Earth's surface. If radius of the Earth is R, radius of
the planet is

(A) R4
(B) 2R
(C) R2
(D) R/3
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35, ‘X @RR 1Y IF IS SE € FTES WS G4 G
3:4 998 4:5| FsFReelm my @@l o Aswe
G SATS TS ANZ 2

(A) 5:4
(B) 6:5
(C) 23:20
(D) 13:10

36, 9T (59 st (49T @& = 90amu ) 3 Sfe
7gf® 7 C = 26.59%, H = 2.22%, 938 O = 71.9% |
@ioibg =T AT =

(A} Cﬁlegﬁ
(B} CZH‘ED-i
(C) CHO,

(D) CHO

37. CO,* W LR G641 2
(A) 2
(B) 4
(C) 16
(D) 32

38, <=l e 99e AU faed g2e d7foa =
wfeea gqeE TM 74T+t TeTde waeE WS | 9
A4 TFIE R 27 o= sigiba e 2|

(A) R/4
(B) 2R
(C) R2
(D) R/8



39, A force is acting at constant magnitude
perpendicular to the direction of motion of a
particle. Which of the following statements is true for
the moving particle?

(A) Velocity is constant

(B} Acceleration is constant
{C) Kinetic energy is constant
(D) Displacement is constant
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39. =l sfedim =7 <feq efeqra Ane <3 =
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(A) sifer=s asfE=edn
(B) wa¢ wvifE=san
(C) sfexle weifdadam
(D) e weifEadam

English Language

40. The following analogy question presents a re-
lated pair of words linked by a colon. Four pairs of
words follow the linked pair. Choose the pair of words
whose relationship is most like the relationship
expressed in the original linked pair.

PERFORATE : HOLES
(A) Filter: Water
(B) Evaporate: Perfume
{C) Decorate: Rooms
(D} Speckle: Spots

41. The following sentence contains two blanks. The
blanks signify that a set of words has been left out.
Choose the set of words from the given four choices
below that best reflects the sentence's overall meaning

In one shocking instance of ............. research,
one of the nation's most influential researchers in the
field of genetics reported on experiments that were never
carried out and published deliberately scien-
tific papers on his non-existent work.

{A) Theoretical; Challenging

{B} Dervative; Authoritative

(C) Fraudulent; Deceptive

{D) Erroncous; Impartial

42, Complete the sentence using the correct
preposition.
His father prevailed
government service.

him to join the

{A) upon
(B) to
(C) in
(D} from

43. Complete the following sentence using the right
set of words:

The organization aims satellite-based
data on climate-relevant information with highest pos-
sible levels of accuracy and reliability.

{A) at providing with
(B) to provide

(C) to the provision of
(D) to provide with

English Comprehension
Read the following passage and then answer the ques-
tions nos. 44 and 435 based up on it

A study based on a year-long analysis of data
from an extensive mobile phone network has
produced interesting information that might be of use
to epidemiologists and social scientists. The data, ac-
cording to the researchers, might shed light, for example,
on how discases and information
(or rumours) are transmitted through social networks.
Researchers ranked the link between a pair of phone
users on the basis of the total time spent talking to each
other. "Strong’ links exist between members of a close
social group. "Weak' links tend to be more long range
and join individuals from different social groups. The
researchers observed a dramatically different effect
when they removed links in the
network in rank order, depending on whether they
removed links starting with the strongest or with the
weakest. To their surprise, removing the strong links
first had little effect on the overall structure of the
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network. But removing weak links first split the
network into a series of unconnected islands, with indi-
vidual users linked to a small collection of other phone
users. Thus the researchers have hypothesized that the
weak links (the more tenuous connections between in-
dividuals from different social groups) might be very
important in maintaining wider social cohesion. If you
lose contact with casual acquaintances you may
fragment your social circle, but if you stop talking to
your brother there might be less visible impact on the
structure of your social network.

44, The passage offers support for which of the fol-
lowing positions?

(A} "Weak' links are more important than
‘strong’ links.

(B} Some people believe that phone-network
patterns could be useful to social scientists.

{C) Information transmission through phone
networks is essentially the same as information
transmission through face-to-face contact.

(D) The ‘strong’ links are
geographically close individuals.

between

45. In the last sentence the author apparently
intends to

(A) make the ideas more specific 1o enhance
the reader's understanding.

(B) reinforce the researchers’ conclusions.

(C) provide a practical illustration of the mean-
ing of a strong link.

(D) generalize the argument to make it more
appealing.

46. In parts of the Arctic, the land grades into the
landfast ice so that you can walk off the
coast and not know you are over the hidden sea.

(A) permanently
(B) imperceptibly
{C) irregularly
(D} precariously
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47. The pond was a place of reek and corruption, of
smells and of oxygen-starved fish breath-
ing through labouring gills.
{A) fragrant
(B) evocative
{C) resonant
(D) fetid

48. Many people at that time believed that spices help
preserve food; however, Hall found that many
marketed spices were bacteria, moulds and
yeasts.

{A) devoid of

(B) teeming with
(C) improved by
(D) destroyed by

: however, he
by the

49. Today Wegener's theory is
died an outsider treated with __
scientific establishment.
Select the most appropriate pair of words or phrases to
fill the blanks in the above excerpt.

{A) unsupported, reverence
(B) unchallenged, disdain
(C) undervalued, impartiality
(D} unimaginable, heroism

50. Since the Romans failed to subjugate the tribes
in Northern Britain, they built a wall in a at-
tempt to the natives. After all, what wall can

the determined?

Select the most appropriate combination of words or
phrases to fill the blanks in the above excerpt.

(A) seemingly over-optimistic, exclude, deter
(B) thoroughgoing, intimidate, cormer
{C) successful, inundate, circumscribe

(D) far-reaching, barricade, conquer

PUBDETI7/GEOGRAPHY



15

Space for Rough Work

PUBDETI7/{GEOGRAPHY




.

T &

PUBDET-2017
Subject : Geography
s 951 wo TG T 99 ¢ Yoo

Booklet No. oo,

fRrasiaat

ARFE TEF (T A FTIRAl oW W A0S e A

2

2|

v

gl

@ |

W |

1

L

w

»o|

W3 aieita 506 MCQ <=9 2 redl g A%l acig A, B, C @33 D @2 il @Ry Ted (redl S |

wios Taa fare 2 799 R | g9 Ted fiE o @ @ GFiES Tt fE -1 799 AR | W Ser 1 f
w7 AT |

OMR +@ A, B, C g4l [ ofere #iis @i <ot @ e e o=
OMR #itd B fite wge Sia/a= sifem o= s (A7 95929 <9 )
OMR #it@ e 29 =e! = @MW w5 g Al

OMR #ie 8 2w =seitas v a2z Foes cne w9e wie Ao e e uE 993 gaeAde 99aef
39 TS I

OMR #ita 72 2w Frem wm e it T Face o@ aw Fogg s 2rse Toos 2@

OMR Tea+afl TEhi<e TEg AL 8 IR | Tod1k 209 729 91 (€@ 799 Ta HdE 99k v 99
Tl wm Temeiaft siverd s afen e A | awrel S8 A, SR T 9 FEE
IEG wia FMfen T (A0S A | OMR TegHal ©e 2@ 31 e SaE<5E wis seEs Ifen E @
AT | ARSI 470 A 4 Sedeld e Tedtid A TE g wisrmidl e 1 we WA ARE |

AR (T AT T TAE Ta W SR (T EE O (O 9T 43 S 9EE o9l A

AT BeE ws OMR 29 SReg mers g 31

A

PUBDETI7/GEOGRAPHY






